
 

Gals Shapley ALG example
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claim Output of G's ALG is a perfect matchingR
pf proof by contradiction p q

7q np
Assam output is not a RM
F a man m who gets no woman

m has proposed and got rejectedby all women

3 a free woman 1 Contradicts

w never got engaged m has not proped to w

re

Claim Soy S is output of GS ALG St is stable
Pf by contradiction
Assam FC m w unstable pair
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01353 when w rejected m she had a better option

and women only trade up So w prefers her match

to m min is not unstable


